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Task A2. THE WIDEST BOATS 

In Waterland, there are N lakes (numbered from 1 to n) and M channels between them. 

The width Wi,j (in meters) of each channel (i,j)  is known. Navigation in the channels can be 

performed in both directions. 

A transportation company has prepared a list of K pairs of lakes, among which will be 

held regular services with boats of people and goods. There exists a path connecting any two 

lakes in a pair of the list, but not always this path is a direct one, i.e. this path may pass thru 

other lakes.   

Write program boats that calculates the maximum width of boats, which can pass 

between the pairs of lakes in the list (a boat can move from one lake to another, if its width is 

less than or equal to the width of the channel, connecting the lakes). 

Input 

On the first line of the standard input are given three integers N, M and K.  

On each one of the next m lines are given three integers i, j and w, showing that there 

is a channel of width w between lakes i and j (1 ≤ i, j ≤ N). 

There follow K rows, each containing two lakes’ numbers i and j, between which a 

boat of the company will travel. 

Output 

The program should write K rows on the standard output, each containing one integer, 

equal to the maximum width of the boat that can travel between the corresponding two lakes. 

Constraints 

N ≤ 1000,  M ≤ 100000, K ≤ 10000, Wi,j ≤ 200  

Example 

Input 
6 9 4 

1 2 2 

1 4 3 

1 6 1 

2 3 3 

2 5 2 

3 4 4 

3 6 2 

4 5 5 

5 6 4 

2 6 

3 5 

1 2 

4 6 

Output 
3 

4 

3 

4 


